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��+34%0:∋��1−&01( ��1?�%−.�+8−3401−�>∋.�6�&4� &4∋ ��%&%��3∆)�+�&�1−�
�8+&∋2�� ��4∋�/1)0�2%�−�1∗∋−�−:+�&1�&4∋���	,%8�6∋0∋�3%∗∗∋.	1//�&1�
+�2)(%&∋ � &4∋ �31−.�&�1−+ �1/ � % � +∋%(∋. � /(∋∋& � %�030%/&� � ��4∋ �)−.∋0,1.8�
%33∋++ � �−&1 � &4∋ � 0%.%0 � ,%8 � +∋3&�1− � %−. � ∋(∋3&01−�3+ � ∋∆)�∗2∋−& � ,%8�
+∋3&�1− �6∋0∋� /�&&∋. �6�&4 �3(1+∋%,(∋ �4%&34∋+ � &1 �%((16� /10 �%33∋++ �%−.�
�:−�&�1−�1/�&4∋�&∋+&�/�0∋�+%&∋((�&∋�3)∗+�%−.�&4∋�+&%0&∋0�/)∋(�3)∗�6�&4�&4∋�
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�4∋�+&%0&∋0�/)∋(�3)∗9�64�34�6%+�/�((∋.�6�&4�6%&∋0�&1�%∗∗01?�2%&∋(8���
�−34�/012�&4∋�&1∗�1/�&4∋�3)∗9�6%+�(13%&∋.��−�&4∋�3∋−&∋0�1/�&4∋�%=�1−�3+�
0%3Α+9�0∋/∋0∋−3∋���:)0∋�59�%&�%−�∋(∋=%&∋.�4∋�:4&�1/�
��−34∋+�/012�&4∋�
/(110 �1/ � &4∋���	,%8� � ��4∋�3%,(∋�,)−.(∋�6%+�21)−&∋.�3∋−&∋0∋.�%−.�
.�0∋3&(8�%,1=∋�&4∋�+&%0&∋0�/)∋(�3)∗9�6�&4�&4∋�.�+&%−3∋�/012�&4∋�,1&&12�
1/ � &4∋ �3%,(∋+ � &1 � &4∋ � /)∋( � +)0/%3∋ �,∋�−: �%& �%∗∗01?�2%&∋(8 ��Η7 � �−34��
�22∋.�%&∋(8�∗0�10�&1�(�:4&�−:�&4∋�+&%0&∋0�/)∋(�3)∗9���1)−3∋�1/�Α∋01+∋−∋�
6%+�3%0∋/)((8�∗1)0∋.�1=∋0�&4∋�3%,(∋�,)−.(∋�%((16�−:�%((�∋?3∋++�/)∋(�&1�
.0�∗��−&1�&4∋�3)∗����4∋�/1)0�+%&∋((�&∋�3)∗�/�0∋+�6∋0∋�(13%&∋.�%+�+416−�
�−���:)0∋�∃�%,1=∋�� ��%34�3)∗�6%+�/�((∋.�Μ�/)((�6�&4�6%&∋0�%+�%�,%+∋9�
%−.���Λ�1)−3∋+�1/�Α∋01+∋−∋�6∋0∋�%..∋.����4∋�+%&∋((�&∋�3)∗�/�0∋+�6∋0∋�
�:−�&∋.�/�0+&�%−.�&4∋−�&4∋�+&%0&∋0�3)∗�6%+��:−�&∋.�%−.�%((16∋.�&1�,)0−�
6�&4�&4∋�3%,(∋�,)−.(∋+�� ��4∋�/�0∋+�6∋0∋�%((�/)((8��−=1(=∋.�,∋/10∋�&4∋�
�801:∋−�%∋01+1(�:∋−∋0%&10+�6∋0∋�.�+34%0:∋.�

�1(8�2�.∋��03���0∋��−�&4∋���	�%89��∋+&��)2,∋0�����∋&��∗

�10 � ��	,%8 � &∋+& � −)2,∋0 � &619 � �� � −∋6 � �801:∋− � 
��	� � %∋01+1(�
:∋−∋0%&10+�6∋0∋��−+&%((∋.�)+�−:�&4∋�∋?�+&�−:�+&%−.%0.�Α�&�,0%3Α∋&+�%−.�
6∋0∋�(13%&∋.�%+��−.�3%&∋.��−���:)0∋�∃����4∋�∋(∋3&0�3%(�%3&)%&10+�1/�%((�
&4∋�%∋01+1(�:∋−∋0%&10+�6∋0∋�6�0∋.��−�∗%0%((∋(�%−.�&∋02�−%&∋.��−&1�&4∋�
�801:∋− � ��+34%0:∋ � �1−&01( � �1? � %−. � +8−3401−�>∋. � 6�&4 � &4∋ � �%&%�
�3∆)�+�&�1− ��8+&∋2� � � �4∋ � /1)0 �2%�− � 1∗∋−�−:+ � &1 � &4∋ ���	,%8 �6∋0∋�
3%∗∗∋.	1//�&1�+�2)(%&∋�&4∋�31−.�&�1−+�1/�%�+∋%(∋.�/(∋∋&�%�030%/&�� ��4∋�
)−.∋0,1.8 � %33∋++ � �−&1 � &4∋ � 0%.%0 � ,%8 � +∋3&�1− � %−. � ∋(∋3&01−�3+�
∋∆)�∗2∋−&�,%8�+∋3&�1−�6∋0∋�/�&&∋.�6�&4�3(1+∋%,(∋�4%&34∋+�&1�%((16�/10�
%33∋++�%−.��:−�&�1−�1/�&4∋�&∋+&�/�0∋�+%&∋((�&∋�3)∗+�%−.�&4∋�+&%0&∋0�/)∋(�
3)∗�6�&4�&4∋�4%−.4∋(.�,)&%−∋��:−�&10�

�4∋ �+&%0&∋0 � /)∋( �3)∗ �%−.� /1)0 �+%&∋((�&∋ �3)∗+ �6∋0∋�%(( � 0∋21=∋.�%−.�
0∋/�((∋.�6�&4�6%&∋0�&1�%∗∗01?�2%&∋(8����−34�/012�&4∋�&1∗�1/�&4∋�3)∗��
�4∋�+&%0&∋0�/)∋(�3)∗�6%+�(13%&∋.��−�&4∋�+%2∋�+∗1&�%&�&4∋�3∋−&∋0�1/�&4∋�
%=�1−�3+�0%3Α+9�0∋/∋0∋−3∋���:)0∋�59�%&�%−�∋(∋=%&∋.�4∋�:4&�1/�
��−34∋+�
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,1&&12�1/�&4∋�3%,(∋+�&1�&4∋�/)∋(�+)0/%3∋�,∋�−:�%&�%∗∗01?�2%&∋(8��Η7�
�−34�� ��22∋.�%&∋(8�∗0�10�&1�(�:4&�−:�&4∋�+&%0&∋0�/)∋(�3)∗9���1)−3∋�1/�
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(13%&∋.�%+�+416−��−���:)0∋�∃�%,1=∋����%34�+%&∋((�&∋�3)∗�6%+�/�((∋.�6�&4�
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,)&%−∋�:%+�(�:4&∋0����4�+�+&%0&∋0�3)∗��:−�&∋.�&4∋�6�0∋�,)−.(∋��−�%�+410&�
∗∋0�1.�1/�&�2∋�� ��4∋�4%&34�&1�&4∋���	,%8�6%+�3(1+∋.�%−.�&4∋�3%,(∋�
,)−.(∋ � /�0∋ �6%+ �21−�&10∋. � 3(1+∋(8 � =�% � &4∋ � �−/0%0∋. � 3%2∋0%� � � �4∋�
�801:∋−�.�+34%0:∋�,)&&1−�6%+�∗0∋++∋.�1−(8�%/&∋0�=�+)%(�31−/�02%&�1−�
&4%&�&4∋�3%,(∋�,)−.(∋�/�0∋�6%+�6∋((��−=1(=∋.�%−.�&4∋�&∋2∗∋0%&)0∋�1/�
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/(%2∋�/012�&4∋�4%−.4∋(.�,)&%−∋�(�:4&∋09�%�(1−:∋0�&4%−�∋?∗∋3&∋.�&�2∋�
6%+�&%Α∋−�&1�(�:4&�%((�&4∋�+%&∋((�&∋�3)∗�/�0∋+�%−.�&4∋�3%,(∋�,)−.(∋���4�+�
6%+�∋=�.∋−3∋.�,8�&4∋�����+∋31−.+��&�&11Α�&1�:∋&�%((�&4∋�+%&∋((�&∋�/�0∋+�
%−.�3%,(∋�/�0∋+�+&%0&∋.�6�&4�−�&4∋�∋(∋3&01−�3+�,%8�+∋3&�1−���&�6%+�−1&∋.�
&4%&�&4∋�Α∋01+∋−∋��−�&4∋�+&%0&∋0�3)∗�.�.�−1&��:−�&∋9�%+�=∋0�/�∋.�,8�&4∋�
(16�&∋2∗∋0%&)0∋��−�&4∋�:0%∗4�1/��4∋02131)∗(∋�ϑ�����4∋�3%,(∋�,)−.(∋�
4%.�3%):4&�/�0∋�%−.�2%?�2)2�&∋2∗∋0%&)0∋�0∋310.∋.�,8��4∋02131)∗(∋�
ϑ��%&�&4∋�3%,(∋�,)−.(∋�Ι)+&�∗0�10�&1�.�+34%0:∋�6%+�����.∋:0∋∋+����
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�4∋02131)∗(∋ � ϑ�9 � Ι)+& � � � &1 � � � +∋31−.+ � /1((16�−: � &4∋ � .�+34%0:∋9�
�(()+&0%&∋+�,1&4�&4∋�∋//�3�∋−38�%−.�0%∗�.�.�+&0�,)&�1−�1/�&4∋��801:∋−�
%∋01+1( � �−&1 � &4∋ � ∗01&∋3&∋. � =1()2∋� � #�+)%( � �−+∗∋3&�1− � 1/ � &4∋ � &40∋∋�
+%&∋((�&∋�3)∗+�−1&�21−�&10∋.�6�&4�&4∋���∀!+�&4∋02131)∗(∋+�31−/�02∋.�
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